


X? =1mod M



X9 =1mod M N
M P N
1He=P-1 N=P-1
2)Q=P -2 N=1
B)Q =P -3 N =2
HQ=P—4 N =3



N=P-1



2.

Q=P -2

XP-2=1mod P
X

>
]

X.-XP2=Xmod P
XP_lzX

xP-1=1
1= xPl=x



X2. xP3=X2mod P

1= X 1=x%2mod P
X =41 N =



1= X" 1=x3mod P

X3=1mod P

X3=1mod P
X3 -1=(X —1)(X°+ X +1)

X #1

X2+ X+1=0



X2+ X+1=0

P =7,13,19,31,37,43,61,67- - -



13-7=6,19-13=6, 31 -19=12...
6,6,12,6,6,18,6,12- - -

P=7+6n X°+X+1=0



Q=M—9

Q=M -6



X5:(X—1)(X4+X3+X2+X+1)
X'+ X3+ X2+ X +1)=0
N =5 N=1
P =11,31,41,61,71,101,131,,,

10, 10, 20, 10, 30,30 - - -
M=11+10n P =1mod10

X°=1modP N =5



X' =(X DX+ X°+ X*+ X3+ X%+ X +1)
X+ X+ X+ X3+ X2+ X +1)=0
N=7 N=1
P =29 43 71,113,127, .,
14,28.42.14 - ..

P=29+14n P =29+14n P =1mod 14

X"=1modP N=17



M, () < 1350
1 M P
Q=" N3
2 M

Euler o(M)
N (M)

1< @ < M <150



2—1

M=p-q(pq )

2

r—-1)-

p(M)=(p—1)-(q¢—1)
o (M)=lem(p — 1, ¢ — 1)
(M) QM) 3 (M)

p=3,qg=5
(g—1)=2-4=8 Euler

©'(15)=Ilcm(4,2) = 4



2 —2

M=p-q-r

p,q,7( )
p(M)=@pP-1)-(¢—-1)-(r-1)
o' (M)=lem(p —1,q — 1,7 — 1)

p—1,¢—1,r-1 o' (M)

p=3,q=5r=7(p,q,r
-1 -(g—1)-(r—1)=2-4-6=148 Euler
©'(105)=Icm(2, 4, 6) = 12

p(M)-3



2—3
M=p-2" @ )
o(M)=(@p—-1)-2"""

3.22=12
p(12) =(2)-2t =4
0'(12) =2

euler 1= ¢/(12) =2



M
Euler  o(M) o' (M)



(p17p2°°°p7“ )

M:pilpgngrr

euler

P'(M)=lem (p(p1") - ¢@3?) - - ("))



e=1,2 o' (M) = 2¢71
e >3 o' (M) =267
M =2°- My (M )

o' (M)=lem(p(2°), ¢'(M1))



() M=8-17-29
o(M)=4-16-28 = 1536

My =17-29
o' (Mr)=lem((17 — 1), (29 — 1))=64

o' (M)=lem(p(2°), ¢'(64))=64

o' (M) = 64






